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1 d
1. If y=————, then it
secr -+ tanz dzr
—secx
(a)

secT + tanx

tanzx
secx +tanzx

(b)

—2secr
(secx + tanzx)?

(c)

tanx

(d)

(secz + tanz)?

—2
(secz + tanz)?

(e)

2. If the tangent line to the parabola y = 222 +31z+42 at the
point (o, §) is perpendicular to the line  + 7y = 0, then

a—f3=
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3.

The point on the curve y = [In(2z + 5)]* with horizontal

tangent is

@ (2,0
® (39)
© 1,0

@ (~4,0)

(e) (“3’ 0)

1
The equation of motion of a particleis S(t) = vVt + 7 + 19,

where S is in meters and ¢ in minutes, then the the acceleration
when the velocity is 0, is

(a) % m/min®

(b) —211~ m/min?

(0) % m /min?

() -;i m /min?

(e) ~1 m/min®
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5. If f(z) = 273+2) then f/(1) =

{a) ——=In2
(b) i1n2

(6 =

6. If f(z) = g(e*) and ¢'(4) = —;—, then f'(In2) =

(a) 4

|

(b)
(c) 1
(d)
(e)

0 e
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dy
x, then m% =

7. Ify=asin"'z+zcos™

dy
8 If z?+2zy—3y*=09, then — =
"+ 2ry Y endac

(2) (z+y)@By—=z)”
(b) Qz-y)y-2)"
(c) (z+y)y—=z)
(d) 2(z-3y)EBy—2)7"

() 2z +y)y-x)”
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9. The tangent line to the curve y = 222 — Sn(@ -1+ ot the

Page 5 of 10

point (1,2 — e) is parallel to the line

(a) ex+y=e
(b) ex+ey=1
(c) z+ey=ce

(d) the z-axis

(e) the y-axis

10 Ify?—2®=1, theny’ =

(a) 2zy~°

(b) y°
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11.

12.

If the position function S of a particle is given by the equa-
tion

S(t) = 2t3 — 18t + 48t + 5

where t is measured in seconds and S in meters, then the
particle is speeding up on the time interval(s)

(a) (2,3) and (4, 00)
(b) (0,2) and (3,4)

(c) (0,3) and (4, 00)

(d) (2,4)
(e) (1,3)
Let F(zx) = [:3{%(;2%—]2 where f is a positive differentiable

function. If f(0) = f'(0) = 1, then F'(0) =
[Hint: You may use logarithmic differentiation]

4 — e
(0) —er

de+m
46

(b)

dr — e

(C) qe—2

de — 7
d) —=t

3mr+e
(&) —e
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13.  If the point (—% , k) lies on the tangent line to the curve

y=tan"'(2z) at z= —;-, then k=

14, If f(z) = (1+22)3%%) | then f/(1) =

(2) 27(91n3 +8)
(b) 27(In3 + 4)
(c) 108

(d) 3(3In3+8)

(e) 54
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15. The slope of the normal line to the graph of f(z) =

at the point (0, 3) is

(a) —2

(b) e

16. If lim

z—0 xcoszT + Ssin3x

then a+20=

asin2z + ftandr 1

2
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2e* +1
T+

-

, where « and [ are constants,
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17. If —4 is the z-intercept of the tangent line T to the curve
y = v/, then the y-intercept of T is

—_——
o
S’
| =

o
[0]
e
!

— 2) , then fO¥(—1)=

1
18 1 fla)=1 (a:+2

() 55!
() —(55)
(@) 5058
(@) (56

(e) 56!
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19.

20.

If f(z)=|z+1]+3|z—2|, thenthesum f'(-2)+ f'(1) + f'(4)

(a) isequal to —2

(b} is equal to 4

(c) isequalto —1

(d) Does not exist since f is not differentiable anywhere

(e) Does not exist since f is discontinuous at —1 and 2

a(l — cos4z)

3.3 , z <0

If the function f(x) =

3z + — , >0
B

is continuous everywhere, when « and  are constants, then oF =




